M-A2 A
ljolgfd.. Z.
W
eelk
T W

1)
X
y
0) - o ;)
22 =
— 9
= ;O L 3
@::%(o | - g . 4:;2’5 bg)@/})
0z 2 »
‘puw ’ \rs—l%
hon \
0 \E::CL\ (np 4 +‘D‘_ZL/ "
| h /%, (03
xS owsl 6vuz,w~o net fonchm L e
b) oL, bv‘lf"+ f WQFM
-10,2
| Y /'3
ﬁ‘w-’x* t 3,9/'8;’72




ﬂ - gx[+ b|x + 12 input = - |
LEN =300 + b1 +12 ovtput g

20)) + L(-D) Iz (-1,9)
3 -6 +12
—%«H'z_"lﬂ
N ‘H\v%-—a"}l
Fia) = 30+ L(u) +12 f
(4) = 3¢4) + LY i 8

2) + LLY) +12
g +ad 12 (*,8%
72 +12 = 81
S\OPe—f/\-Ltru.F‘l‘ (%TM

Rﬂ)-—lX@ N A
)T
DPlA y-is

Z> Mﬁa slo,ae

-2 o‘,owh
e = = it







S\oFe_= FiSz:/A—ﬂ_: ﬂz"tj|

rvin A X X ’xl

-3 b
(4,3) (4 9) g\or,e___f?____: : [57

)(l ﬁ‘ Xz(’Jz b -4
(4,9 (59 s\ope - Z:: - —:_E. 3]
X, Y. XY
Fiad slepe. (13 (511)
slope = ooy _ 032 ,_f(i ;@

X, —X, 5-1



= slope = ) 7))
SR =

\31"3, - W\KXL'—X:)
\QCW\)(-l—\O B—j(:W\(X-—X(S
< opt—'\/\-\-efﬁilot form P():/\+ - S\Q(—“Q .




Fl/\A T/{/“’ 66 M‘l"'l-om ‘Eol' A L(/v\.e w l"‘H/l M = -1
Mot cmtrins [B/ —l) -

.o :
OP"L'OV\ gl 3—j,=m[x_-)(’) thW#Z_ j=mx+L

IR s W R
‘j-(’ZJ "(X 2) ~02c(-‘;)(5)+L
jJrz*";X*Lf _2--d+b
’L,L —Z 4 14
__’Zxd—’l ;z-_-_L
Y b

o i o) A [
\) Flfw‘ slo‘oe,
z) Find te e‘p“‘v—t_‘”"'

g\of)e_ j 'j‘ -0 - :LE_ ~lo m=-1D

X, - x 3- X
gD S
'\ —l0x+2,8/ ~2 :o)(3)+\°
3 g = /lb(;( ;2) u /01—6404— lo
+3p A30 :J—:W\X"‘

\\)) Az — lox +20 8'-‘0 s —
-2 Sl PRI

8







